
 

 
 
 
 

 
1   

Thank you for choosing Westin products 
for additional installation assistance please call 

Customer Service (800) 793-7846 
www.westinautomotive.com 

P.N.: 75-34103-RevA ECO #: W16-0107 DATE: 6/22/17 

Westin Automotive Products, Inc. 
320 W. Covina Blvd 
San Dimas, Ca. 91773 

INSTALLATION INSTRUCTIONS 
HDX LED GRILLE  

APPLICATION:  

 2013-2017 Dodge Ram 1500   

PART NUMBER:  

34-1035 

PROCEDURE 

1. Remove contents from box, verify if all parts listed are present and free from damage.  

Carefully read and understand all instructions before attempting installation. 

Failure to identify damage before installation could lead to a rejection of any claim. 

2. Start by lifting up the hood and remove the radiator cover by removing the (6) plastic clips. See Figure 1 & 2. 

3. Under the radiator cover remove (4) bolts. Refer to Figure 3 & 4.  

 

ITEM QUANTITY DESCRIPTION TOOLS NEEDED 

1 1 HDX LED GRILLE  10MM SOCKET 

2,3 2 UPPER BRACKET A, DRIVER (2) AND PASSENGER (3) 6MM HEX KEY TOOL 

4,5 2 UPPER BRACKET B, DRIVER (4) AND PASSENGER (5) RATCHET 

6,7 2 LOWER BRACKET, DRIVER (6) AND PASSENGER (7) TORQUE WRENCH 

8 2 M6 HEX HEAD CAP SCREW (YELLOW ZINC) 10MM RATCHET 

WRENCH  9 6 M6 HEX NUT (YELLOW ZINC) 

10 8 M6 SPLIT LOCK WASHER (YELLOW ZINC)  

11 8 M6 FLAT WASHER (YELLOW ZINC)  

ANTI-SEIZE LUBRICANT MUST BE USED ON ALL STAINLESS STEEL FASTENERS TO PREVENT THREAD DAMAGE AND GALLING 

ITEM 1 ITEM 3 ITEM 5 Driver side brackets opposite of passenger side brackets. ITEM 7 

Figure 1 Remove the (6) plastic clips to remove the radiator cover. (Circled below) 

Radiator Cover 


